LY-A10V(S)O/31 RN T RH ER
Variable Displacement Piston PumP LY -A10V(S)0O/31

% & Overview

LY —A10VS(S)O/B1 RIIBBEHEZFR DA BN ELELRIR, S3NA T
AMITENM AR, MEEIFXEERERSNEITR, RAERMSM,
MIfEEj] Al iA28M Pa,

LY -A10V(S)0/31 series variable displacement piston pump swash plate axial plunger
variable pump,respectively for industrial use and for mobile machinery design, is
designed for open loop hydraulic driven design, adopts a shaft structure, rated

working pressure up to 28Mpa.
EL{& TiEE Adai
o \ | e
BB sook N\ Pson || N %
E“?:h % \ \ —’7 T Control
| —

oae Features

MEMREEL TROGENAR, BdETEE 3 The capacity of the pump is in proportion to its rotating speed
HaETHER, TRTRTER; anddisplacement;the stepless adjustment of the displacement

ME ST RN R, BN EE; can be materialized by regulating the swivel angle of its swash

4 plate.

HRWFERBITRI TR EII A A28MPa; # There are many variable control forms, Fast control response;

MR TRk S RS A/ b ; # Allows for continuous operating pressures up to 28MPa;

IR PhAE A S B o) B t2 10 D1 4L ; %There are two shell discharge ports;

KRBESER, TERASER; # High power/weight ratio;

# The drive shaft is able to bear the axial and radial load;
# With through—shaft structure,able to form combination pump;




&IS58 Type Code
LY - AIOVS O 28 DR /| A

1-T{E4r & Operating Medium
¥ #ih Mineral oil  (F£4%E No Code )

245434y 2& Machinery Classification

hmiE, $##st, TER, T Axal pision, swash plate design, variable, used in industry A10VS
WmiE, @&, R, {TENHA Axial piston, swash plate design, variable, used in industry AlovV

3-1E{THE% Operational Mode

= Bl &% Open circuit 0
4-3% Size
2+ # HilkNominal displacement mL/r 18 | 28 | 45 | 71 | 88 | 100 | 140
5-#=&IHLH Control Devices
EHiEP, #AE$ Two point controldirectlyoperatedDG | ® | @ | @ | ® | @ | @ | @ DG
FE1#218 Pressure Control DR @ @ @ @ @ @ @ DR
i%#8 & 7148 %) Remote pressure control DRG @ | o | oo e o o DRG
i is $ Pressure and flow control DFR e | o | o | o | e | o | @ DFR
Fe A2 %) Pressure and flow control DFR1 o | | | o | e o e DFR1
B Th 342 %5 Pressure and power control DLR ® (o || ® | ® | & | @O DLR
EAmtRh#EE
Pressure and flow and power control DFLR < o e e e il | PSS
6-#% % Series
31
7-E¥ 7715 ( 3% ) Rotating Direction(View on Shaft End)
it $t Clockwise R
¥ BT ¥t Counterclockwisa L
8-#F#t Seals
THGRINBR, HiHiMigRrShafiseal FKM p
AR VitonFKM Vv

M35 AEChart shows: @=T] LlfitffAvailable, O=fE#&®In preparation, -=7FNot available




9-$ij{#1 Shaft End

18 28 45 71 88 100 140
g HhKeyedshaft DING88S L @ L L L L ® P
B E MM Parallelshaft SAE withkey J744(1S03019-1) ® ® ® @ ® @ ® K
@ B#Splinedshaft ANSIB92.1a, standard shaft 34" | 7/8° | 1 [11/4*(11/4*1/2" 1| 3/4*| S
L@y ASimilartoshaft S BMiERIRRNEIE a/4" | 7/8°| 1 [11/4'[11/4"| - | - | R
e L R L
B #Splinedshaft SAE = & - = 1147 - | w
10-%3% 7 =MountingFlange 18 28 45 71 88 100 140
ISO 27, ® | o | o | @ | @ | @ =l A
SAE 271 ® & o | o o o ~ C
ISO 471 = = = = = = e | B
SAE 471 - - =] = - - | ® | D
11-T4Eih O Service Line Ports 18 28 45 71 88 100 140
i OSHE /1w OBERMR, SAEXR=, 2BIWMer @ | & | & o o o e 12
Port S and port B at opposite sides,SAE flanged ,metric = i = e | @ . - | 42
B OSFE i OBEMM, SAEKZ, ZHHWLl ® | ® | & & & o o 62
Port S and port B at opposite sidesSAE flanged, UNC mounting bolts | _ = - o | @ - - | g2
12-i&343E) Through Drive 18 28 45 71 88 100 140
7t ifi B I zh Without through drive e | o | o | ® | @ | | ® [NOO
HIEER MNREERSTHOT
With through drive, the second pump connection dimension as follows
RRTAE= e AIEESERMR
Mounting flange | Spline shaft The second pump
SAEB82,27L U5/8in9T16/32DP CR10VS018/31 o | o | o | o | o | | o Ko
SAEB2, 27, S#43/4in11T16/32DP | CR10VS018/31 ¢ | o | ® | ® | e | ® | ® K5
SAE101,27L. SHI7/8in13T16/32DP CR10v028/31 L L L L L ® | KB8
SAE101,27L SH7/8in13T16/32DP CR o L] ] @ ® ® | K02
SAE101,27, SHh1in15T16/32DP CR 0V0O45/31 ® ] @ | ® | K04
SAE127,2F. SHli1 1/4in14T12/24DP | CR OV071/31 [ L] L ® | KO7
SAE127,27. SHi1 1/2in17T12/24DP | CR 0V0100/31 ® | ® |K24
SAE152,4%L SHi1 3/4in13T8/16DP | CR 0VO140/31 ® |Ki7
S080, 271 SHhi3/4in11T16/32DP CROVS0O18/31 L [ ] ® ] [ L ® | KB2
S0100,27 SH7/8in13T16/32DP | CROVS028/31 ® | ® | @ | @ | @ | ® |[KB3
ISO100,27L SHI1in15T16/32DP CR 0VS045/31 ® @ @ ® ® | KB4
S0125,2%. SHi1 1/4in14T12/24DP | CR 0VS071/31 ® | ® | ® | ® KBS
1S0125,27L SHii1 1/2in17T12/24DP | CROVS0100/31 ® | ® |KB6
ISO180,47L S%i1 3/4in13T8/16DP | CR 0OVS0140/31 ® | KB7
ISO 80,2A. SEg ¢ 18 CR 0VS018/31 e | o | o | @ | ®# | @ | @ |KS51
SAEB82,27L @4 ¢ 19.05 CR 0VS018/31 e | o | o | @ o | @ | @ |K4
SAE100,27L RN ¢ 19.05 CR 0VS028/31 @ ® L ® ® ® | K25




18 28 45 71 88 100 140
718 38R 2 Without through drive ® | o | o | ® | ® | ® | ® |NOO
il R N FEERTHOT
With through drive, the second pump connection dimension as follows
REE= Hafh AEEEMMNR
Mounting flange | Spline shaft The second pump
SAE101,27L FGH 22,225 CR10VS028/31 - ® | & | ® | & o | & |KO3
ISO 100,27 EFR 25 CR10VS045/31 - - |e | ® | ® | ® | ® |K2%
SAE101,27 g h25.4 CR10VS045/31 - | -|®|®|® | ® | ® |KO5
ISO 125,27 FREHhch32 CR10VS071/31 = = - e @ e ® | K27
SAE127,27l T A F31.75 CR10VS071/31 - - - ® | ® | ® | ® |KOB
ISO 125,271 SRl 40 CR10VS0100/31 - ~ - - - | ® | ® |K37
SAE127,27L e g 38,1 CR10VS0100/31 -1 -1 -1-|-1® | ® |K38
ISO 180,4 F gt chas CR10vVS0140/31 - - - - - - ® | K59
SAE152,47. FREh44.45 CR10vS0140/31 - - - - - - ® | K21

HERNNA: WAFRRRESEK, MLLEREURER—&, RAESH, ERHEZARBINE,

WRITHEAAR, A4RNEEIE—ARNES+F_ARNEEE,
Description of combination pump: Two pumps can be connedted in series by their head and end, namely integrated to
be a combination pump.by the means of through—shaft,and the se cond pump of the series combination is called the

subordinate pump.
In case of placing an order, the combination pump model equals to the model of the first pump + the model of the second.
¢H & = A0S = Hlllustration of combination pump model:0S4VS045 DR/31R-PPA12KB3+0S10VS028DR/31R-PSA12N00

A $ ¥ Technical Data
W24 3 Parameters Table

1#Size 18 | 28 | 45 | 71 | 88 | 100 | 140

}{: & Displacement Vowx | MUr | 18 | 28 | 45 | 71 | 88 | 100 | 140

) Miﬁmiﬁpﬁrﬁgm Pemn |  bar 038

Eur:;u{ri? Soute Miﬁmﬂﬂﬁim Psmec | bar 10

HMOBEA(NES) | Rawdprossre | TV | ber 280

piﬁ?fbfnﬂgat Fﬁﬁgm Pmex bar 350

e Mirﬁridmﬂfmj;sum bar 10

[EHTKiESE  Rate of pressurs change Ra bar/s 16000

fi%ﬂ II:E ?ﬁgmlm pressure) P bar <2

ﬁﬁ; Vo= Vg max fome | rmin | 3300 | 3000 | 2600 | 2200 | 2100 | 2000 | 1800

Ps= 1bar V= Vg max Bt min | 3900 | 3600 | 3100 | 2600 | 2500 | 2400 | 2100

R N =Ng max qoms | Lmin | 594 | 84 | 117 | 156 | 185 | 200 | 252
n =1500 /minfd Umn | 27 | 42 | 68 | 107 | 182 | 150 | 210




H+&Size 18 28 45 71 88 100 140
=% Displacement Vigmax| mL/r 18 28 45 71 88 100 140
RAIHER n =ngp maxf Eomadld KW« 27.7 39 55 73 86 93 118
Maximum power
(/\p =280 bar) n=1500 r/min B kW | 126 20 32 50 62 70 98
46 A p=280bar B Trax | Nm 80.1 125 | 200 | 316 | 392 | 445 | 623
Torque
(Vo= Vgmax) A p=100bar R T | Nm | 286 45 72 113 | 140 | 159 | 223
H{E P
Shatiaitisatsiin Nmjrad| 13158 | 25656 | 41232 | 80627 | 80827 |132335| 188406
HE S
Shaftelighect'S Nm/rad| 11087 | 22317 | 37500 | 71884 | 71884 |121142| 169537
e I e B
| e erenslbn Nm/rad| 14850 | 26360 | 41025 | 76545 | 76545 | - -
AE U
AT S Nm/rad| 8090 | 16695 | 30077 | 52779 | 52779 | 91903 | -
e K
P e, Nm/rad| 13340 | 26189 | 43905 | 82112 | 82112 | 135303 | 196844
nEYE B REEEhiRE
Moment of inertia ofthe rotaing assemibly J | kgm? [0.00093 | 0.0017 | 0.0033 | 0.0083 | 0.0083 | 0.0167 | 0.0242
mAHEINMEE
Max. angular acceleration rad/s? | 6800 | 5500 | 4000 | 3300 | 3300 | 2700 | 2700
vy ]
e <ol L 0.4 0.7 1.0 1.6 1.6 22 3.0
i
Weight kg 12 15 21 33 33 45 80
IR SHEG St VF S Eﬂf’mﬂ N | 700 | 1000 | 1500 | 2400 | 2400 | 4000 | 4800
Drive shaft
Allowable load BXERAN N 350 | 1200 | 1500 | 1900 | 1900 | 2300 | 2800

1) Vg =Vgmex BRIEIEEIE R TEM OSBHEOE AP = 1bar ( @3 ES ) BpOER, 20840 E P ImatHeR =0,
M= el ¥, =0 E P mn = 08barff, FHIMEER/NEI0%, Vo<V max BPEIE{E D352 RIR .

1) OnceVy = Vymex, the value is applicable to the inlet pressure at suction port S is Ps = 1bar (absolute pressure),when the inlet
pressure Ps increase or decrease the displacement,the speed can be increased, when the inlet pressure Psmin=0.8bar,the speed
should be reduced to 90%.Vg<Vgmax value when the speed limit.

A $ M Technical Data
B AR\ ERIGHIESNIE Permissible input torque and through drive torque

AT 18 | 28 | 4 | 71 | 8 | 100 | 140
?f-mrﬂqfkﬂﬂﬂ - Treax Nm 80 125 200 316 392 445 623
Tenx | Nm | 88 | 137 | 200 | 430 | 438 | 857 | 1206
Hif# Shaft P
$ mm | 18 | 22 | 25 32 32 40 45
BAWMAHE" Teax | Nm | 124 | 198 | 319 626 | 1104 | 1620
Max . input torque® | i Shaft S
: n | ¥4 | 78 | 1 | 1V | 14 | 112 | 134




& Size 18 28 45 71 88 100 140
#1486 Torque
( VomaxELA P=280 barfd ) Tmax Nm 80 125 | 200 316 392 445 623
Temex Nm 160 250 400 644 644 = >
i Shaft R
B i\ d4s" ¢ mm | 8/4 | 7/8 1 11/4 | 11/4 ~ ~
Max . input torque V)
Temax Nm 104 145 212 433 433 750 1186
Hi{E Shaft K
$ in 3/4 7/8 1 11/4 | 11/4 | 11/2 | 13/4
Hi{f Shaft S Tome Nm 108 160 319 492 492 778 1266
BN IE s
Max . Through drive | $liff Shaft R| Tomex Nm 120 176 365 548 548 - -
torque
B Shar i Temax Nm 104 145 212 433 433 750 1186
1) ERTEEEAERANEEIS Fordrive shaft free of radial load
#4647 Torque Distribution T
1

W#EH Hydraulic oil
TYERSEETERE Operating viscosity range

ATERBRENRAEAFG, RINBIUENTREER
WEFTERNE ( TERET)

For optimum efficiency and service life, we recommend
that the operating viscosity in the range of the following
best (at operating temperature)

BETIFRE

Optimum operating viscosity vopt =16~36mm/s

$5 B Y M PRSI Limits of viscosity range

FERA TERET, SAUTHIE:

Under critical operating conditions the following values apply:

Vmn =10mm ¥s 38R iE Short time (t=<1min )

B At Vr e dkitt il iR BE H 90T
Max. permissible case drain temperature of 30C

Vmex =1000mm s  4EB4iE Short time ( t< 1min )
p=<30bar, n=<1000rmin, & =-25T

R RERAERRE

Selection Considerations of hydraulic oil
ATHEIFERORER, HAREHRRERETHEANTL
{EREE ( B ) o FEI(ERETEEMEFERER, B
BERENEGE, BIGEFANTR TRESAKRESS,
Sedkitt i RS R DA\ BRI, HEGEE T
HRE, £, HEEFEAEMIMRENASET0T,
HREEAEREE—R TS RERES CTES,
Inorder to select the comect hydraulic oil. it must be determined
at ambiemnt temperaiure within the tank temperature (open circLit).
Select the hydraulic fluid in the working temperaiure range for
optimum viscosity range, it recommended fo choose where
relevant, the higher viscosity grade.

The case drain fermperature is influenced by pressure and input
spead and is always higher than the tank tamperature. However,
any partof the piston temperadure shal not exceed 90T. The
fluid temperature in the bearing area is generally higher than the
average cass drain oil temperature high around 5C



{235} Control Devices

1, HEE8IDG Direct Control DG

iE TR O XM —SMBETEUE 7 (E S WA S R/ R
EEM AT ERGaEHEE, BRNRNEHH50bar, EH
R R BT Vonax T Vomin Z [E1 )3

EE: MAXFAROMSRENSEHMOBREETIEEERE
X,

An external switching pressure can be applied to Port X to
minimize the swivel angle of the variable pump. Control oil can
be supplied directly for the control piston under the necessary
minimum pressure of 50 bar. The variable pump can only be
shifted between Vgmax and Vgmin.

Note: the switching pressure needed at Port X is in direct

correlation with the actual working pressure of Pressure Port B.

2. EH#EHDR Pressure Control DR

BEAESEFH OEDRGEE, BERRRERBER
SRIRT BN EDRR. HOESDTEEMHNN XS
®iE,

The pressure control will keep the outlet pressure constant.
Therefore, the variable pump only delivers as much fluidas
required by the actuator slements of the hydraulic system.
The outlet pressure can be setthrough stepless adjustment
on the control valve.

A& 140
r == 1 |
' \ i T liz'l;:ﬁf-' A |
| 1
18 ~100

S
L T e o
il : : el
LEp L e : ; Ll |
M i
: |
I '] o ! I
o — | b

A
L : -
-.- - -I - — ! . - .
ils : _: [LF]
i "
I
: =]
: : Tl
i .__.-' l_._._.l
L
Hi,, .y
P &
o i
-
L L I|'l v
i T .
L S

3. IEEEHEHDRG Remote Pressure Control DRG

fEEEFRRDIEREE SORER. REMEM—TRRfES
il OXHEERXIEEEMN,
ERAAESEDRGEHBNHEEER,

The function and equipment of constant control is similar to
that of DR. The remote control can be realized by
connecting an extemal relief valve with Port X. Relief valve
is not included in the scope of supply for DRG control.

3 140 ——
.
| :

il |X

=

A% 18 ~ 100 Fad

.....

‘. il
- g | B
ol g
il g Y
a1l e
. - B 3
1 J . : [
| _.-'".. 1
F !
|-&]-’-.-.;":!
1 i "'1 !
1 LB




253N Control Devices

4, EAikEE=EHEDFR/DFR
Pressure and Flow Control DFR/DFR1

BT EHESITIEZS, RebhhH v RE T otn e
LR EREERTET, SERFROEERERAITT
GLHERENKR, FREIEEHTARNEN, EHSHRE
FiliEE,

Tt A EEEDFRDOFR1EHNGRIEEZ A,

DFR1#2§1 BaYis OXS5REZ BB A RS A,

In addition to the pressure control function, the outlet flow of
the pump can be adjusted bythe differential pressure of the
throttle valve installed onthe oil supply pipe. The variable
pump delivers the fluid needed by the actuator elements of
the hydraulic system and isfree from the influence ofthe
changes in actual working pressure. Pressure control takes
precedence over flow control.

Relief valveis not included in the scope of supply for DFR/
DFR1 control.

The throtile orifice between Port X of DFR1 control valve and
the pump chamber is enclosed.

0 140 DFR1EE N PRILEA
B e B
E:} fete A
# e : :- ':rl' _i- "'I-\.'E':'llll
A
1 b S |B
DFR1H M A S T
H# 18-100
. A\MT
j Ej-ﬂ-\ﬂ | B
L (ST | B
: i ; r=bxt | |B
T

6., HE/1Th#+E a8 Pressure and Power control DLR
XFEEH A XS HEER, The control unit no flow control.

FHE 140 - ~
o -t |
i N LI §| h‘:'|L
[ "'-._H L':-'I'.-' i
. ‘ y | -
| | !
. .. - = . = =
I ! «-._"‘- [ i L"}_-I-,-'!- Y
S O — el = 1
Lihaalil
Lt e

5. EhitmIhERE S DFLR
Pressure and Flow and Power Control DFLR

ATEIEEHZUN IR TREEENEIHESE, Wil8se
BURER, CEHMENENNRRREERE, PRAWHIIRRE
HEE,

TERIE 6 R SE AR IR TR )t &R LU AT o
TRBAEEEDFLREHNRAEEEZ A,

Inorder to gain constant driving torque under the working
conditions with changeable working pressure, the output flow
can be changed to keep the product of flowand pressure
constant, namely to keep the output powerful of the pump
constant.

Flow control can only be conducted below the constant power
control curve.

Relief valve is not included in the scope of supply for DFLR
control.

o
a0 00 A
P E : I
--k?t?--.-?##-f “ | 1 FKM
L il
[ Ix,i"s_{ i
2 -
ﬂﬁzﬂhim N T it pranatanay
E '._l:lll i {.l.u . _ :'ijiﬁﬁﬂ
Lo o
| 1'.- ______ ' | I."Il
| & i-ISEe. i
H el 4 ‘ -
| G |
: =
S | o ;
] '...._Ill},_.a"'bjh e | |
N _
= T
'__.-':'{'_'--__f";
i
= IVW\} |
= |
L1 g
!*-— —_— .-.. __ et
| 3 By
ix{ ‘."-T:f |
e 28~100 Ry 1
ANl :
'I: l'{-;r-'t'- B
Firp— e : T B
== i
BN
g |
u




SMERT k18 ABE= (I2F4l8DR. DRG. DFR/DFR1)
Dimensions size 18 Flange A {Control devices DR, DRG, DFR/DFR1)

g3 pnddin
] R R :
£
H =
ISO 3019-2 . .
i @ B
: g
- 1
8 1]
@
! !
1 Eig
| T ! {
o = 106.4 -
- 152 o
= 109 =
e 126 -]
<
o
i
-
R Shaft
S ESH, 34 in 11T 16/32DP" R fE83h, 3/4in 11T 16/32DP"2 U fE8k%h, 5/8in 9T 16/32DP"2
(SAE J744) (SAE J744) (SAE J744)
238
- SN WL L
3 4 “
L 1 1. \
e 1~ 1 @ 5 Qi
(_I} S—— - -|5— 'IF E Tk B e 111
5 s ||| [T =TT
f‘gﬂr K2 ZB[ -1| g | 4 - ’_Il
s =2 i Rk T
1] | = 1 R315x67 H |
IR ! ‘ .' DIN 332 e _]
j 1.| Rlik: 1S 21 I R [ |
] 4| Y/
bt , 88 o . B8 |
r "85 _.4F
i1 O Ports
B tHid A Outlet port E=Fange SAE J518 3/4in ( #x# & 5] Standardseries } M$TFLFixing thread M10ER17
S i A Suction port & 2= Flange SAE J518 1in ( 54 & ¥ Standard series ) 8$T7LFixing thread M10#817
ki itt ity I Drain port M16x 1.58812
L1  ##jH ODrain port M16x 1.58F12
X ##ih A Control pressure M14x 1.5%12

X1  #3%i OControl pressure G1/4#12FDGE S For DG Control

i MIBRRUEAFELORLIO, SAEREHE,
Dependent on the installation position,portL orport L1 must be connected.




SMER Mig18 CEBIEZ (IEWULMDR. DRG. DFR/DFR1)
Dimensions size 18 Flange C (Control devices DR, DRG, DFR/DFR1)

vV AR R
Y e
6.3 _ 108 g B
L 83  _ ! il ;
h Lealbls Il | z
ISO 3019-1 7 1Nl i i
I @ S - -
3 |
'-'.Jﬁ Q Q O
: =5
g (= | -
%; o COIIEE & " [ 1
E:' <
; = . © 3
s, i
1115 [\ \ !
L1
T R
e W 1185 1 B 109 tl
4 el T X
W
EHIHHADG
EiE= i B T REFERT
148 _ CLOEE08 i3
: : i
: | it
lw m:E
[ !
1
th{R Shaft
P 4% DING8BS, ABx B x25 K 425, Parallel with key
ISO 3019-1 221
Eﬂﬂjn.ﬂ — )
= -t S Centering® |
EE 5 o5 {mﬂ‘ffdﬁ‘“ giﬁa.iﬁ:a.? Dlgwaaz o =
e - >\ 113/286) [ |
® | e\ 10 |
1 | Y 8 \*™%HEe | | I.
R R [ e—— R i ol Skl 2;5}_.-;_ |
) (11 D-I;I-':ri 3 . |I
0 | B o [T o= 114
gl | A 1] ‘ SaY |
[ ] if < \
o ﬁ—lr—‘ o
/ |
s eh # /1) 1.30 (33) oL
R 3.156.7 ) —
. 1.61 (41)
DIN 332 = = 2 L8111,
#[ Ports
B ti7# A Outlet port #E=Fange SAE J518 3/in ( &4 £ 5Standardseries ) T FLFixing thread 3/8-16UNC;20 deep
S A Suction port &2 Flange SAE J518 1in ( #5:4 % ¥ Standard series ) ¥$T7LFixing thread 3/8-16UNC:20 deep
L jitt iy [0 Drain port M16x1.5812
L1 fittid O Drain port 9/16-18UNF-2B%12
X #3%ih O Control pressure M14 x 1.5 12
X1 ik OControl pressure G1/4%12 B FDGESIFor DG Control

iE: RIERFAEERLOKLIO, HIEEERE,
Dependent on the installation position,port L orport L1 must be connected.




MER-T RiE28 AREE (2EIP1ADR. DRG. DFR/DFR1)
Dimensions size 28 Flange A (Control devices DR, DRG, DFR/DFR1)

Vv i B £ RESE B,
T ||| . iz
; I | IE BRI E
= 53_1___ L :'E:, ll".. I !
1SO 3019-2 \ ‘ Y- ‘ \ =
| | == \ . - I". =
. : i -
- | | \ |
S === _ . !
. | J @ . I
N | .| 1 |
—T4 |\ \s 3
ol _— E_I:SIE_'. % -—
A
W
fh{R Shaft
S iEds, 7/8 in 13T 16/32DPY R {es23h, 7/8 in 13T 16/32DP"2 U {85, 3/4in 11T 16/32DP"
(SAE J744) (SAE J744) (SAE J744)
33.1 : - . 30
5 = & - ?‘H w
S & = L N
O 3 TE = = ' -
= \ e = IR
2 g || & o1 EET |
{.}J ] g | '-] EI1 -.,-,Ir T m— i} _
31— .r_E . i :_ll' "1[ = ::"L#T
| [ (i
|I | ’ '[
(1] | BRI - |
251 P || == ,
I~ 7 = |l 5/
L N . g8 |
# 0 Ports
B 78 0 Outlet port 7% =Flange SAE J518 3/4in ( x4t #® 5| Standardseries ) 8$T#LFixing thread M10#R17
S WA Suction port &2 Flange SAE J518 1 1/4in ( 47/ & ¥|Standard series ) ¥$T7L Fixing thread M103R17
L 7t 0 Drain port M18x 1.58812
L1 it O Drain port M18x 1.58%12
X #3153l O Control pressure M14x 15812

X1  #2%hOControl pressure G1/4812 AFDG#EHH For DG Control

iE: MERRAEEELORLIO, SMERHE,
Dependent on the installation position,port L orport L1 must be connected.




SMERST #lik28 CREE (EH#l4ADR. DRG. DFR/DFR1)
Dimensions size 28 Flange C (Control devices DR, DRG, DFR/DFR1)

TiEmA12 ( #H##DG,. DFLR, DLR) Port 11 (Control devices DG, DFLR, DLR)

Vv Wt RESERT
e 118 = v B FR R R
A 90 s : |
s 6.3 L. G ' | f |
1SO 3019-1 | Ok A 2
i \ ! & =
* | L D @&
% l : i |
af -—HiA\———4————m e ﬂt_l
= j: 2 |
E > ! st i
I | E
| !
< |§u N : ™ T
\ L1 \ S i 7d
= — 164 .J K 164 9
P Y 194 _ B 835 _t 119. 3 a
W
Hh{E Shaft
P F4#%h DING8B5, A6 x6x32 K FEgk3h, Parallel with key 1ISO 3019-1 221
. 36°%
P - _ b 138 _\
16 & (2.5)](28.6)~
-—r— - o~ ‘m |B
2 o | [
- W (W o |
3 §§'I 2 i B VS, f | HI1| E‘_ﬂ Sn > b
J 32 g ﬁ%f_" ZIN 0 of O
3§ = Sz e —
| i II- e U_f’i_..._ i
! ﬂ.i (16) |
1) 1.31 |(33.3)] i
£ e ..;J 1.63 | [(41.3] |
i1 A Ports
B i O Outlet port & =Fange SAE J518 3/4in ( #5#4 R¥|Standardseries ) $$TfLFixing thread 3/8-16UNC;20 deep
S  B&iA0 Suction port #&2:Flange SAE J518 1 1/4in (#7/# R %) Standard series ) M$TFLFixing thread 7/16-14UNC;24 deep
L it i#i O Drain port M18x1.5812
L1 i 0Drain port 3/4-16UNF-2B3R 14
X #3%ih OControl pressure Mi4x 1.58812

X1 $#i# OControl pressure G1/4F12 BFDG#ESFor DG Control

B BIERFAEEFLOKIIO, HEEERE,
Dependent on the installation position,portL orportL1 must be connected.




MRS $#E28 Dimensions size 28

HEHNADG IT{EMO12

Control devices DG port 12
FEEM i B 5 e B
1598 , R R A

FEHTADFLR, DLR IfEMmA12
Control devices DFLR, DLR port 12

ERHEDG TIEMO11
Control devices DG port 11

Z [aLE

NS T RESE RS,
Mp R E

EHEXDFLR, DLR I{FdO11
Control devices DFLR, DLR port 11

N B £t mE $5RT Bt §HRESE RS,
R ) 2 S i TR gk Aok
48

o ' i
= | NI IR
a1 | - 5

= E
P 206 y

THMmO11 (#E44#DG, DFLR, DLR) port 11 ( Control devices DG,DFLR, DLR )

ZEHRE  ymasetiesbng
o Wz R

90 . , =

|
{
|

E=

ISO 3019-1

L
]
max. 113

-1z AL ®

T} 4
79
[
= E:\_‘h
ﬂi&i*LﬁLJ i




MERT Rikas ABGE = (I2HHlADR. DRG. DFR/DFR1)
Dimensions size 45 Flange A (Control devices DR, DRG, DFR/DFR1)

vV
9.5 133
gl o5 Y 3
e L | X j &
1SO 3019-2 \ ol . " T
"u _..-""__'_'_—_—_ : —L',l
| _,.-"-'q — f |
ﬁ 2y o 4l i A =4 / ““\‘ 7
3 S AR D S5 N
D‘:"E 2.1 Vi il' N/
S | | |
.‘S;'r ' X |
;- ——f | &
. _|" |
. 5
e ‘14;3_:‘\‘\&_':1
45 |
[/ 219 | - 1L
294 2 R - ¢ 129 o
= * i 146
w
-
o
o T
©| &y
1
357 s
I{R Shaft
S fE8tsh, 1in 15T 16/32DP" R 7E88H, 1in 15T 16/32DP"2 U 7E8%h, 7/8in 13T 16/32DP"
(SAE J744) (SAE J744) SAE J744
a e _.]_E‘ . *§31
S 8 B 16 _
Q| ot LT Q o i
a : i 1) 2 = '1\1
| | ] I
s M 3 §HAllln
— ! L ==l
| 7
[
J 1 T S a1
L | 25 1 T |
.__.-'II . _JII
45.9 i
- - 41
i# O Ports

B WO Outlet port
S Witk O Suction port

i%=Flange SAE J518 1in ( #5# &% Standardseries ) 8$T#L.Fixing thread M10ZR17
A2 Flange SAE J518 1 1/4in ( #5#E # ¥ Standard series ) $$T#LFixing thread M123820

L itk O Drain port M22x 1.5814
L1 ¥ ODrain port M22 x 1.58814
X {2 &3 O Control pressure M14 x 1.5512
X1  #%3l O Control pressure G1/4i%12 A F DG For DG Control

i BIERFRAEEFLOKLIO, HAEREE,
Dependent on the installation position,port L orportL1 must be connected.




SMERT #iig4s CERIEZ (ZH/#l48DR. DRG. DFR/DFR1)
Dimensions size 45 Flange C (Control devices DR, DRG, DFR/DFR1)

THEih 12 ( #EHNMADG, DFLR, DLR) Port 12 (Control devices DG, DFLR, DLR)

Q_-f’_.._ e 133 i V EE S RESERT,
6.3 9 ' By RN
H= Ll ’
E : . x'!
ISO 3019-1 \ = i / i
*.1_5' AR ‘ ,-“'f hg :
5 \ VLA ) / P L |
Ln“ ' -+ E ' "ll o
o | L= =
i \ ‘
o T ___L_':_ ''''''''' i ]_—! \ C,E
& ! \ ) =
| A L — (e 3] -
R
14.3 | N L1 \_
45 i
184 146 <
L 219 - - 184 -
- - . 129 |
! = 146 N
W
V [a) 41 E
B
. Vil  —
A1 o g |
G0 @
.$, € l_[ |
| & 357
26.2 __| 8
fh{R Shaft
P EgEHh DINGBBS, ABx 7 x 36 K Fgt4h, Parallel with key 1ISO 3019-1 25-1
42" o
—a 89 -— |
L e - ~
3 =
e N
ol o -
JL .Ei ,a | .!-:"I_.
AR ) =2 23 i
8 o| 5LV i
| o 1 rﬁ;ﬁf’f 7
!
i#i O Ports
B i O Outlet port % Z=Flange SAE J518 1in ( #x#t %% Standardseries ) #$T#LFixing thread 3/8-16UNC;18 deep
S & 1 Suction port 7% 2Flange SAE J518 1 1/2in ( 454 R % Standard series ) $$T7LFixing thread 1/2-13UNC;22 deep
L fitti83 O Drain port M22x 1.5%14
L1 it O Drain port 7/8-14unf-2B#% 16

X #2# i O Control pressure M14x1.5%12
X1  #&{ik OControl pressure G1/48%12 FDGEE For DG Control

iE: RERREMEEELOSRLIO, SAERWMA,
Dependent on the installation position,port L or poriL1 must be connected.




$MERSE Dimensions

#EHBEADG THEmO12 EHEEIXDG TIEMO11
Control device DG port 12 Control device DG port 11
2 e MR $t e 7 s
73 s 5 IRt REERS

L pE A

FHBRDFLR, DLR IT{EMi12 JEFI8DFLR, DLR T{EM11
Control device DFLR, DLR port 12 Control device DFLR, DLR port 11
Rt et NERE A
WRRT i SR | e :
AR R MR

11

TEmA11 (#=HHHDG. DFLR,. DLR) port 11 (Control devices DG,DFLR, DLR)

N T . MU R
‘ 2 - 108 . mgmRaw
: 3 . |
. 2 | B
= & 2 o
; DJeN]
'lu'-'li.'li' S _l
© B Y1 S @ =N
5 ' | ‘B
S| N
w 5 3 D-
2
#E / B (s |
IS0 30191 144 & 2 b
:ﬁ" 189 2 gj?_' P
z 245 2\ 59.9




SMERST MiE71 ARGEZ (I2EHl145DR. DRG. DFR/DFR1)
Dimensions size 71 Flange C {Control devices DR, DRG, DFR/DFR1)

_E__IF__:,__ T : L_ : y

sz (| it
i B A [ X : g
|5n3n19-2“n.x | ="l : ! QZ I
Vel /. 07 :
w ) I A I . ( o / o
2 | % A=1- i @
T : £
" 1
uﬂj‘ __F:l. _+ ........... ‘I l | l =,
! E f} \_{ —_3 | o
J'____ R ﬂ | o
1 e/ | g_I:f l \ © .'ll
; #ﬂ' 1 1 ,'II 1
118 | N1 ."
[ 53| " ;
B 217 N [ =
| 257 ."'
+ iR e RS
W GRS E08
V [a] & ER 4R E W (e /& R4 E
D24 .
@25 = & | &
i |
S o 8+t
ol r“-:@1 i
@ L= < | ey s
B an s L 1o ief—
@ I‘\f i Lazs
. e MR e T =
\B.

hi{# Shaft

R 7425, 1 1/4 in 14T 12/24DP™ U {884, 1in 15T 16/32DPY

S g, 1 1/4 in 14T 12/24DP"
(SAE J744) (SAE J744) (SAE J744)
2 . a8
$ 19 f‘ﬂ 19 :;-3} ot [ | .
O 6 o . | 5 | .
= B 1) \ LZIJ I i % e "_' _ﬁ\l N
o0 e s - T4 [} |
Az [l g L 81 ez || |
oY : Tt i sz
L IR E - —t | ™— | I_
j| sl i
| & 14
39.5 } Al PR A 38 _J Ln 30 “_-—3
/ ) /

ifi [ Ports

B H{j#i O Outlet port
S Wik [O Suction port

#%&=Flange SAE J518 1in ( #r/#E®FStandardseries ) #%T#LFixing thread M10ZE17
& 2Flange SAE J518 2in ( #5#E & % Standard series ) @477 Fixing thread M12#820

L it 1 Drain port M22 x 1.5%% 14
L1 it ODrain port M22 x 1.58% 14

X #2 %l O Control pressure M14 x 158812
X1  #%l# OControl pressure G1/43% 12 FDG# $For DG Control

i REREMEEELOSLIO, SAERREA.
Dependent on the installation position,port L or port L1 must be connected.




MERT RE71 CREZ (IEHYIMDR. DRG. DFR/DFR1)
Dimensions size 71 Flange C (Control devices DR, DRG, DFR/DFR1)

T M42 (32%#HDG, DFLR, DLR) port42 (Control devices DG,DFLR, DLR)

NE Rt et R B,
{ P Pk S
6. .,
Hx
ISO 30191 \ i
) __5""*.“|' "nl |
F.l?-l g I" E
o 3 \ =
o 5 >
3 BT | E
8 r 1l
T 3 |
i
1 Lo
- i
o
]
“
& |
:;;';_4
| | 1'1
@25 || [ IN\B
| 22.4 |
#h{R Shaft
P 4tk DING8B85S, A10x8x45 K g8, Parallel with key 1ISO3019-1 32-1
.. D 0.02. 1.63
. - (3) |[(41.3)
ol 2 5 8]
i mg‘l-i — ] s 3
R =zl S8re!
J’ ﬂ| < 075019, U
| O 11.87(47.5)]
i 60 i [ 2.18|_(55.4)_
ith O Ports
B it O Outlet port ##%&=Flange SAE J518 1in ( #xift ¥ 7 Standardseries ) #$TFLFixing thread 3/8-16UNC;18 deep
S Wit A Suction pori %2 Flange SAE J518 2in ( 454 &% Standard series ) #$T7L.Fixing thread 1/2-13UNC;22 deep
L itttk I Drain port M22 x 1.58% 14
L1 fit i O Drain port 7/8-14UNF-2BER16
X  #E#lilOControl pressure M14x1.5812

X1  #§li OControl pressure G1/48R 128 FDG# $lFor DG Control

i RBEREMEEFLOKLIO, HEEREE,
Dependent on the installation position,port L erport L1 must be connected.




MR~ #M#E71 Dimensions size 71

EHEAADG ITiEmO42 EHEERDG T{EmO41
Control device DG port 42 Control device DG port 41
[ilipganrtagion Z @RE
=l R R NARY eSS RS,
—ei B R R
D)= '
fen|
: 2 14
#EFXDFLR, DLR I{EhO42 E#XDFLR, DLR I{EihO41
Control device DFLR, DLR port 42 Control device DFLR, DLR port 41
g3 gt g R REFERT,

1) fr) 2 e o [ pf S Uk

TiEMmBA41 (=HHHMAMDG. DFLR. DLR) port 11 (Control devices DG,DFLR, DLR)

L o {ia MG e,
A T g ] MmmEaE
e R ~ , s 2alllL /
ISO 30191 \ : ﬁ Al o = /
T ‘E jj'{ = ! =~E g "
N . - X !
,:I \g AN
2 =l Iy Y o Z ’ @ 2

D127 -0.083




MERT RE100 ABGE= (IEHHIMDR. DRG. DFR/DFR1)
Dimensions size 100 Flange A (Control devices DR, DRG, DFR/DFR1)

12.7 Y i BT RE SR AT,
EE 6. * g
ISO 3019-2 ‘ \ as
A < i = i
: o ; _
g ; " i o
D‘j’ E ! i ol
o { t : | 3
O] _ = S El
| ] ——— ﬂ.l
! |E.
(D] A
=
_| 7
W -
V (6] B AL E
B
) |
I~ 1
o |
0w ol DO
¢ < B
__| 31.8
th{f Shaft
S fEgkth, 11/2in 17T 12/24DPY U FE§E5h, 1 1/4in 14T 12/24DPY W FE44h, 1 1/4 in 14T 12/24DP'2
(SAE J744) (SAE J744) (SAE J744)
F 54 WL 7 i
s 3 - S
§ 28 2 9 al T,
o o | > |
= s '| 5 =,
= E"":" F <l 21
mmiE=Es) ¢ .
= e 1 vl
Il j*
NN T A
435 _|P |
L1/
o7 619 » 13/
i# O Ports
B WO Outlet port %2 Flange SAE J518 1 1/4in ( ® & R FIHigh-pressure series ) 8$TFLFixing thread M14#%19
S Wil A Suction port &2 Flange SAE J518 2 1/2in ( x4 # ¥ Standard series ) $$T#LFixing thread M12817
L it 0 Drain port M27 x 28816
L1  jitilODrain port M22 x 25R16
X  ##&iOControl pressure M14 x 1.55812

X1  #%OControl pressure G1/48812 AFDG#H For DG Control

i BIERFRAEEFLOKLIO, HAEREE,
Dependent on the installation position,port L orportL1 must be connected.




SMER ST MiE100 CERGEZ (IEFIHLMDR. DRG. DFR/DFR1)
Dimensions size 100 Flange C (Control devices DR, DRG, DFR/DFR1)

TEiRO12 ( #E#1#DG, DFLR, DLR) Port 12 (Control devices DG, DFLR, DLR)

[l gggindsdinp 7
BRI =R
T ;
ISO 3019-1 \ _—
I| \ g )
p g o Il =
4 e @l 2
; : o
N _l 4:'-.,]51_ il
5 I Lo| i
| .;:;.:
=]
| .
1 ! o
1
t#h{H Shaft

P J52% DIN6885, A12x8 x68

-‘ﬂLﬁﬂ
695
28
o 5
| | P
F el ol
2 gg E]“ j _,_-"'"J A "'.I I| 1III|
T 29 = _-—-a.—.rl..f'-—'ll—l
4! o3 E "".-"-.-"Z I
| S| =z /ol [N
1 'E'* I ] _ﬁ |I
|
I| n
r;j
|
80 |
i 0 Ports

B il Outlet port

S i 1 Suction port

L ittty O Drain port

L1 it i O Drain port

X #2218 O Control pressure
X1  #%iEOControl pressure

1.66 (42.32)

k2 Flange SAE J518 1 1/4in ( ME®5IHigh-pressure series ) #i$T#.Fixing thread 1/2-13UNC;19 deep
#&=Flange SAE J518 2 1/2in ( #=#E # %I Standard series ) @$T7LFixing thread 1/2-13UNC;27 deep
M22 x 1.5 14

7/8-14unf-2B#£ 16

M14 x 1.58812

G1/4% 128 FDGEH For DG Control

i REREMEEELOSLIO, SFERERA.
Dependent on the installation position portL orport L1 must be connected




MRS ##E100 Dimensions size 100

FHBHXDG TEHO12 EBEEXDG TEHONM
Control device DG port 12 Control device DG port 11
WARS $ME SR, Z
268 M R W £ RE R,
FEEE

gk 08

4 3 F. _ ]
e |
— 1 — ll
= O
L
i H [ -
E =i,

FHIBDFLR, DLR IT{E#hi12 JEFI8DFLR, DLR T{EM11
Control device DFLR, DLR port 12 Control device DFLR, DLR port 11
SERS ST RESERT,
MR §HREFE BT, H ) 2 e o
O A

| 11 ]

E=
1SO 3019-1

2127 %.063

il

NGB £ REFE AT
ol Ay




SR #Mi%140 BREZ (IEHPL8IDR. DRG. DFR/DFR1)
Dimensions size 140 Flange B (Control devices DR, DRG, DFR/DFR1)

| P
E= 6.4 A |
IS0 3019-2 ‘ =
. \\l‘.f '.!.
k =
L= I I —
g o
— | i
) !
¥
illr
/
i B T RE R,
M &2 3 i
N
8 8
Y F | nispB
31'5-.. -
th{h Shaft
S fE8%h, 13/4in 13T 8/16DP" P 44l DING885, A14 x9x 80 K F&t4h Parallel with key
(SAE J744) ISO 3019-1 44-1
82
& BN 4 A 81.5 0.06(1.5) 2.56 (65
e 34354 06.015] 250169
E‘?!I - 32 - —al SE = {11.11+ﬂ'ﬂ25}__ s uq_: ﬁ ‘: ]
=) — ll ot 8 | S B
G =y e 2 S D i
I T T W i S E"”‘ =) e | \ e EElf{,T
= el ! i u‘? 33 g _’f"ffﬂff’?ﬁ' 1 3 gl =~
| | 2| €| Sz ||| | = 21 e [l
| || f ﬁ ." 2.64 (67)
3 _|P |
o D8 o iﬂ*ﬁ 1 2.95 (78]
_r-"J. QE .-.I_I
L—Ln-] e
ifi [ Ports
B  HiihOOutlet port %2 Flange SAE J518 1 1/4in ( W& E5IHigh-pressure series ) 85T#LFixing thread M14Z§19
S i [ Suction port E2Flange SAE J518 2 1/2in ( #5#t &% Standard series ) W$T#Fixing thread M128R17
L it 1 Drain port M27 x 23R 16
L1 it ODrain port M27 x 28R 16

X #2 %l O Control pressure M14 x1.58812
X1  #%l# OControl pressure G1/43% 12 FDG# $For DG Control

i REREMEEELOSLIO, SAERREA.
Dependent on the installation position,port L or port L1 must be connected.




MERT #8140 DEGEZ (I=H#H4DR. DRG. DFR/DFR1)
Dimensions size 140 Flange D (Control devices DR, DRG, DFR/DFR1}

THmO12 { EEHHDG, DR, DFLR, DLR) port 12 (Control devices DG,DR,DFLR, DLR)

N £t EERT
L ke A

=63

@152.4

e

21

S FEHe4h, 13/4in 13T 8/16DP" (SAE J744)

67

VB AR E W o B &R

1/2-13UNC-2B#3

TR ] .

-

1Rl o

64| 173 _

ke L - ITHEE
3019-1 = - L 1 .ﬂT

. : 1

=T | e | il -7

El : & X

) ¥ S -

) A |
ksl
293 |
. SRV ™ .« WaE3 i
e ZEA s

il O Ports
B  i{il0Outlet port 2 Flange SAE J518 1 1/4in ( B IE R FIHigh—pressure series )i#i$T#LFixing thread 1/2-13UNC;24 deep
S & if A Suction port &2 Flange SAE J518 2 1/2in ( 454t % % Standard series ) 84T Fixing thread 1/2-13UNC;24 deep
L itt iy I Drain port M27 x 28816
L1 jittid O Drain port 1 1/16-12UNF-2B# 18
X 534 3h O Control pressure M14x 1.5 12
X1 £k OControl pressure M14 x 1.58812 - FDGE$IFor DG Control

i MIERRUEEFLOSRLIO, SMEEHRE,
Dependent on the installation position,port L or port L1 must be connected.




MR~ ##&140 Dimensions size 140

EHRBADG TiEmNO12 EHBADG T{EmO11
Control device DG port 12 Control device DG port 11
MRS T REFR AT, Z (a4 E
iggﬁ- AR RE R
G / NARS $tAESERT
MREAEE

#EEAMADR. DRG T{EmMmMO12 ¥E&RDR. DRG I femO11
Control device DR, DRG port 12 Control device DR, DRG port 11
WRE S REES RS ,
202 NRR 51 RESERT LlsEee s

FEEWE | . M AR R 11

WHAADFLR, DLR T{EHO12 HEEXDFLAR, DLR T{EHO11
Control device DFLR, DLR port 12 Control device DFLR, DLR port 11
ERTEHHESERT,
AT $HAESERT LLES S8
O A

314




3R~ Dimensions,, throug drive

%2 Flange ISO 3019—1(SAE) | #& Hub for splined shaff iEMAEIS  Availability over sixes e
HfEDiameter Symbol H{#Diameter 18 | 28 | 45 | 71 | 88 | 100 | 140 | Code
5/8 in 9T16/32DP | ® | @ | ® | ®@ | ® | ® | ® K01
82-2 | (A) 2oce” _
3/4 in 11T16/32DP | ® ® ® 5] ] 5] o K52
® = Available - = Not available
¥ 823

K01 NG | A1 | A2 | A3 A4”

18 | 182 | 10 |43.3 | M10x1.5;14.5 deep
28 | 204 | 10 |33.7 | M10x1.5;16 deep
45 | 229 |10.7 | 53.4 | M10x1.5;16 deep
(SAE J744 16-4(A) | 71 | 267 |11.8|61.3 | M10x1.5;20 deep
88 | 267 [11.8|61.3| M10x1.5;20 deep
100 | 338 {10.5| 65 M10x1.5;16 deep
140 | 350 |10.8 |77.3 | M10x1.5;16 deep

Soction A-B

Al (it ting fl 1 § 9
Al (o mounting fange) |

—p K52 NG | A1 | A2 | A3 A4

~—m 18 | 182 [18.8 | 38.7 | M10x1.5;14.5 deep
Y= 28 | 204 [18.8|38.7 | M10x1.5;16 deep
“ 45 | 229 [18.9|38.7 | M10x1.5;16 deep

z £ (SAE J744 19-4(A-B))| 71 | 287 |21.3|41.4| M10x1.5;20 deep
- 88 | 267 |21.3|41.4| M10x1.5;20 deep
e 100 | 338 | 19 |38.9 | M10x1.5;16 deep

Al (to mounting flange)

140 | 350 | 18.9 | 38.6 | M10x1.5;16 deep

% 2Flange ISO 3019-1(SAE) | #£& Hub for splined shaft’ BAHE  Availability over sixes )
H#&EDiameterSymbol EI{£Diameter 18 | 28 | 45 | 71 | 88 |100 | 140 | Code
wics | e 7/8in 18T16/32DP | - | @ (@ [ @ | @ | @ | @ | K68
1in 15T 16/32DP - |e| e | e | ®| e | Ko4
® = Available - = Not available
\ vy o K68 NG | A1 | A2 | A3 A4®
A o 28 | 204 [17.8|41.7 M12x1.75
i =5 45 | 229 |17.9|41.7 | M12x1.75:18 deep
(SAEJ744 22-4(B) 71 | 267 |20.3 | 44.7 | M12x1.75;20 deep
' 88 | 267 |20.3 | 44.7 | M12x1.75;20 deep
" - forn28 . 100 | 338 | 18 |41.9 | M12x1.75;20 deep
3 AT
oo R R o 140 | 350 |17.8 | 41.6 | M12x1.75;20 deep

K04 NG | A1 | A2 | A3 A4®

45 | 229 |18.4 | 46.7 | M12x1.75:18 deep
71 | 267 |20.8 | 49.1 | M12x1.75;20 deep
(SAEJ744 25-4(B-B))| 88 | 267 |20.8 | 49.1 | M12x1.75;20 deep
100 | 338 | 18.2 | 46.6 | M12x1.75;20 deep
140 | 360 | 18.3 | 45.9 | M12x1.75;20 deep

B -+ Al (to mounting flange)

1)30° Eife, TR, MEARS, 2£%Z4%5 According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5
2)FFSDIN13FI4E4 Thread according to DIN 13




% 2Flange ISO 3019-1(SAE) | #£f2 Hub for splined shaff’ EMAHS  Availability over sixes %)
Hf&DiameterSymbol HiZDiameter i8 |28 | 45 | 71 | 88 | 100 | 140 | Code
1 1/4] 14T12/24DP| - | - | - | @ | ® | ® | ® | Ko7
127- 2| (¢) Poo &l
11/2in |[17T12/24DP| - | - | - | - | - | ® | ® | K24
® = Available - = Not available
v 137-2
gl K07 NG | A1 | A2 | A3 A"
Al
SRS =< < - 71 | 267 |21.8 | 58.6 M16x2

for NG 71 Ji1

/ o 88 | 267 |21.8|58.6 M16x2
7z (SAE JT4432 —4(C))

100 | 338 | 19.5 | 56.4 M16x2
140 | 350 | 19.3|56.1 | M16x2:24 deep

al27 iy

[1¥
C -
Al (to mounting flange)

v 1i7-2

Section A-B

13
Ir. &
P lkes NG | A1 | A2 | A3 A4
£ :.
<G| 100 | 338 [10.5| 65 M16x2
-1 & (SAE J74438 =4(C-C))
== | 140 | 350 | 7.9 [73.3| M16x2:32 deep

AZ
Al (to mounting flangs)

% 2Flange ISO 3019-1(SAE) | #£#2 Hub for splined shaft’ EARS  Availability over sixes B
H f£DiameterSymbol Fi{EDiameter 18 | 28 | 45 | 71 | 88 |100 | 140 | Code
152~ 4 (A) o 1 3/4in 13T 8/16DP = - = - - - @ K17
63-4 23 Metric keyed shaft & 25 - | @ | ® | ® | @ | ® | @ K57

® = Avazilable - = Not available

¥ 152-4 Section A-B

(@ o
) K17 NG | A1 | A2 | A3 A4®
i 1E (SAE J74444 -4(0)) | 140 | 380 | 11 |77.3 M16x2
o >~ o
s/ |_ 5-1;-*1-&._ Al (ta mounting flange)|
-
— K57 NG | A1 | A2 | A3 | A4 | A5
== 28 | 232 | 8 | 106 | 58.4 | Ms
: 45 | 257 | 8 | 11 | 81 | ms
o ciaiars 71 | 288 | 8 [125| 77 | mio0
| 88 | 283 | 8 | 125 | 77 | m10
100 | 354 | 8 | 105 | 81 | mM10
st O] ST (s g i) 140 | 366 | 8 | 11 | 93 | M8

1)30° EAf, FifR, MERS, 28%%85 According to ANSI B92.1a,30° pressure angle, flat root, side fit,folerance class 5
2/ & DIN138YERE. Thread accordingto DIN 13




% 2:Flange ISO 3019—1(SAE) | 762 Hub for splined shaft’ BMAHES  Availability over sixes K
HfZDiameterSymbol BEfEDiameter 18 | 28 | 45 | 71 88 | 100 | 140 | Code
oo d” 3/4in 11T16/32DP | ® | @ | ® | @ (@ | ® | ® KB2
80 |2-hole
100 | 2-hloe i 7/8in 13T 16/32DP | - L ® ® L ® L KB3
1in 15T 16/32DP | - e @ @ @ @ @ KB4
® = Available - = Not available
¥ B0, 2-hole
Omitted for NG140 Section A-B 2
KB2 NG | A1 | A2 | A3 Ad

18 | 182 |18.8 | 38.7 | M10x1.5;14.5 deep
28 | 204 |18.8 |38.7 | M10x1.5;16 deep
45 | 229 |18.9|38.7 | M10x1.5;16 deep

T , (SAE J744 19-4(A-B))| 71 | 267 |21.3|41.4| M10x1.5:20 deep
for A0 AL o motinlng ange} ] 88 | 267 |21.3|41.4 | M10x1.5:20 deep
100 | 338 | 19 |38.9 | M10x1.5;20 deep
140 | 350 | 18.9 | 38.6 | M10x1.5;20 deep

¥ 104, 2-hole

5““2“: KB3 NG | A1 | A2 | A3 A4®
— o8 | 204 |17.8|41.7 M12x1.5;
.f._.-' - | 1
- . 45 | 229 |17.9|41.7 M12x1.5;
| 2 71 | 267 |20.3|44.1 | M12x1.5:20 deep
7 ] (SAE J744 22-4(B))
7 88 | 267 |20.3|44.1 | M12x1.5:20 deep
T e 100 | 338 | 18 |41.9| M12x1.5;20 deep
140 | 350 |17.8 | 41.6 | M12x1.5;20 deep

¥ 100, 2-hole

5“‘"":{“ 5 i KB4 NG | A1 | A2 | A3 A4”
: 45 | 229 |18.4 | 46.7 M12x1.75
1272 71 | 267 |20.8 | 49.1 | M12x1.75:20 deep
==k (SAE J744 25-4(B-B))| 88 | 267 |20.8 | 49.1 | M12x1.75:20 deep
X 100 | 338 |18.2 [ 46.6 | M12x1.75;20 deep
R 140 | 350 |18.3 | 45.9 | M12x1.75;20 deep

1)30° EAHfa, FER, NARS, 45885 According to ANSIB92.1a,30° pressure angle, flat root, side fit tolerance class 5
2)FSDIN13EYMEL. Thread according to DIN 13




3% Flange ISO 3019-1(SAE) | #£ Hub for splined shaft’ BMAAE  Availability over sixes e
M #=DiameterSymbol B {¥Diameter 18 | 28 | 45 | 71 | 88 |100 | 140 | Code
11/4in 14T12/24DP| - | - | - | @ | @ | @ | ® KB5
125 |2-hole @00
180 | 2—hloe 11/2in 17T1224DP| - | - | - | - | - | @ | ® KB6
i3 13/4in 13T 8/16DP - - - - - - ] KB7
® = Available - = Not available
" — KBS NG | A1 | A2 | A3 A4®
, B 71 | 267 |21.8 |58.6 M16x2
mitte A -l mitte
ARtk Yornen 88 | 267 |21.8 |58.6 M16x2
24w (SAE J744 32-4(C))
e 100 | 338 |19.5 | 56.4 M16x2
T 140 | 350 [19.3 |56.1 | M16x2;24 deep
e A, _
B"‘i __. A2
Al {to mciunhng [la:mg::-j
v 138 Z-hole
e KB6 NG | A1 | A2 | A3 A4”

(=1

1

100 | 338 |10.5| 65 M16x2
140 | 350 | 7.9 [ 73.3| M16x2;32deep

(SAE J744 38-4(C-C))

| ot2sze |

AD

e

A1 (to mounting Nange]

¥ 180, d-hole

Section A'B KB7 NG | A1 | A2 | A3 A4®
A3
e (SAE J744 44-4(D)) | 140 | 350 |11.3|77.3 M16x2"

158.4
[ ]
al80 s

A2
Al (bo mounting flangey

1)30° EAHfe, FigR, AERS, 245245 According o ANSI B92.1a,30° pressure angle, flat root, side fit,tolerance class 5
2)F&DIN1359%4: Thread according to DIN 13




	启东联谊机械_页面_024
	启东联谊机械_页面_025
	启东联谊机械_页面_026
	启东联谊机械_页面_027
	启东联谊机械_页面_028
	启东联谊机械_页面_029
	启东联谊机械_页面_030
	启东联谊机械_页面_031
	启东联谊机械_页面_032
	启东联谊机械_页面_033
	启东联谊机械_页面_034
	启东联谊机械_页面_035
	启东联谊机械_页面_036
	启东联谊机械_页面_037
	启东联谊机械_页面_038
	启东联谊机械_页面_039
	启东联谊机械_页面_040
	启东联谊机械_页面_041
	启东联谊机械_页面_042
	启东联谊机械_页面_043
	启东联谊机械_页面_044
	启东联谊机械_页面_045
	启东联谊机械_页面_046
	启东联谊机械_页面_047
	启东联谊机械_页面_048
	启东联谊机械_页面_049
	启东联谊机械_页面_050
	启东联谊机械_页面_051
	启东联谊机械_页面_052

